
CHEMISTRY

BOOKS - FULL MARKS CHEMISTRY (TAMIL

ENGLISH)

p-BLOCK ELEMENTS -I

Text Book Evaluation Choose The Correct Answer

1. An aqueous solution of borax is

A. basic

B. acidic

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YGGLYI7Cjzmo


C. basic

D. amphoteric

Answer: C

Watch Video Solution

2. Boric acid is an acid because its molecule

A. contains replaceable  ion

B. gives up a proton

C. combines with proton to form water molecule

D. accepts  from water, releasing proton.

H +

OH −

https://dl.doubtnut.com/l/_YGGLYI7Cjzmo
https://dl.doubtnut.com/l/_QMKKmKycTHYX


Answer: D

Watch Video Solution

3. Which among the following is not a borane ?

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

B2H6

B3H6

B4H10

https://dl.doubtnut.com/l/_QMKKmKycTHYX
https://dl.doubtnut.com/l/_pMTynFG9RDIY


4. Which of the following metals has the largets

abundance in the earth's crust?

A. Aluminium

B. calcium

C. Magnesium

D. sodium

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VuZe5Avb3v4Z


5. In diborane, the number of electrons that accounts

for banana bonds is

A. six

B. two

C. four

D. three

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_elAfXaKV1zxq


6. The element that does not show catenation among

the following p-block elements is

A. carbon

B. silicon

C. lead

D. germanium

Answer: C

Watch Video Solution

7. Carbon atoms in fullerene with formula  haveC60

https://dl.doubtnut.com/l/_nO8WQNo3r1ZT
https://dl.doubtnut.com/l/_nXeApvkgXWTg


A.  hybridised

B. sp hybridised

C.  hybridised

D. partialy  and partially  hybridised

Answer: C

Watch Video Solution

sp3

sp2

sp2 sp3

8. Oxidation state of carbon in its hydrides

A. 

B. 

+4

−4

https://dl.doubtnut.com/l/_nXeApvkgXWTg
https://dl.doubtnut.com/l/_Y2vP8jm8Ijb3


C. 

D. 

Answer: A

Watch Video Solution

+3

+2

9. The basic strutural unit of silicates is

A. 

B. 

C. 

D. 

(SiO3)2 −

(SiO4)2 −

(SiO) −

(SiO4)2 −

https://dl.doubtnut.com/l/_Y2vP8jm8Ijb3
https://dl.doubtnut.com/l/_FbqRw7sQMt77


Answer: D

Watch Video Solution

10. The repeating unit in silicone is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SiO2

−

R
+

Si
∣

R

− O −

R − O −
∣

Si
∣

R

− O

−
∣

Si
∣

R

− O − O − R

https://dl.doubtnut.com/l/_FbqRw7sQMt77
https://dl.doubtnut.com/l/_F9sWhtROcATt


11. Whilch of these is not a monomer for a high

molecular mass silicone polymer?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Me3SiCl

PhSiCl3

MeSiCl3

Me2SiCl2

https://dl.doubtnut.com/l/_F9sWhtROcATt
https://dl.doubtnut.com/l/_m1MvbBNB5FKu


12. Which of the following is not  hybridised ?

A. Graphite

B. graphene

C. Fullerene

D. dry ice

Answer: A

Watch Video Solution

sp2

13. The geometry at which carbon atom in diamond

are bonded to each other is

https://dl.doubtnut.com/l/_6yTU7WuhbXHK
https://dl.doubtnut.com/l/_MzPZJnYva7wZ


A. Tetrhedral

B. hexagonal

C. Octahederal

D. None of these

Answer: A

Watch Video Solution

14. Which of the following statements is not correct?

A. Beryl is a cyclic silicate

B.  is an orthosilicateMg2SiO4

https://dl.doubtnut.com/l/_MzPZJnYva7wZ
https://dl.doubtnut.com/l/_6VHsOQwnGVFH


C.  is the basic structural unit of silicates

D. Feldspar is not aluminosilicate

Answer: D

View Text Solution

SiO
4 −
4

15.  is soluble in HF only in the presence of KF. It

is due to the formation of

A. 

B. 

C. 

D. 

AlF3

K3[AlF3H3]

K3[AlF6]

AlH3

K[AlF3H]

https://dl.doubtnut.com/l/_6VHsOQwnGVFH
https://dl.doubtnut.com/l/_VzAMt6T6RSUl


Answer: B

Watch Video Solution

16. Match items in column -I with the items of column -

II and assign the correct code. 

Watch Video Solution

17. Duralumin is an alloy of

A. Cu, Mn

https://dl.doubtnut.com/l/_VzAMt6T6RSUl
https://dl.doubtnut.com/l/_3bcm0CpwkRTR
https://dl.doubtnut.com/l/_36ByK2CIrVhg


B. Cu, Al, Mg

C. Al, Mn

D. Al, Cu, Mn, Mg

Answer: D

Watch Video Solution

18. Thermodynamically the most stable form of carbon

is

A. Diamond

B. graphite

C. Coal

https://dl.doubtnut.com/l/_36ByK2CIrVhg
https://dl.doubtnut.com/l/_FbKJFrX1uHZn


D. None of these

Answer: B

Watch Video Solution

19. The compound that is used in nuclear reactors as

protective shields and control rods is

A. Meal borides

B. metal oxides

C. Metal carbonates

D. metal carbide

https://dl.doubtnut.com/l/_FbKJFrX1uHZn
https://dl.doubtnut.com/l/_b7h1sx6uUjfU


Answer: A

Watch Video Solution

20. The stability of  oxidation state increases in the

sequence

A. AlltGaltInltTI

B. TIltInltGaltAl

C. InltTIltGaltAl

D. GaltInltAlltTI

Answer: A

Watch Video Solution

+1

https://dl.doubtnut.com/l/_b7h1sx6uUjfU
https://dl.doubtnut.com/l/_5kpj8RCRNPOB


Text Book Evaluation Answer The Following Questions

Watch Video Solution

1. Write the short note on anamolous properties of

the first element of p - block.

Watch Video Solution

2. (a) Describe briefly allotropism in p - block elements

with specific reference to carbon.

Watch Video Solution

https://dl.doubtnut.com/l/_5kpj8RCRNPOB
https://dl.doubtnut.com/l/_a1lxgfeCeA0x
https://dl.doubtnut.com/l/_I9i7E3XdxrfI
https://dl.doubtnut.com/l/_af9iHdTX31XT


3. Boron does not react directly with hydrogen.

Suggest one method to prepare diborane from .

Watch Video Solution

BF3

4. Give the uses of Borax.

Watch Video Solution

5. What is catenation? Describe briefly the catenation

property of carbon.

Watch Video Solution

https://dl.doubtnut.com/l/_af9iHdTX31XT
https://dl.doubtnut.com/l/_n31FL7g72bea
https://dl.doubtnut.com/l/_EiuGUB8aTQEo
https://dl.doubtnut.com/l/_4r78vnWdGy6m


6. Write a note on Fisher tropsch synthesis.

Watch Video Solution

7. Give the structure of CO and 

View Text Solution

CO2

8. Give the uses of silicones.

Watch Video Solution

https://dl.doubtnut.com/l/_4r78vnWdGy6m
https://dl.doubtnut.com/l/_U8zkiVYkBem9
https://dl.doubtnut.com/l/_ooQk2eNSInfs


9.  behaves like a lewis acid. Substantiate this

statement.

Watch Video Solution

AlCl3

10. Describe the structure of diborane .

Watch Video Solution

11. Write a short note on hydroboration.

Watch Video Solution

https://dl.doubtnut.com/l/_NqmWxW1O07AT
https://dl.doubtnut.com/l/_Am7I0Sha6MIx
https://dl.doubtnut.com/l/_SVwztYYqWqPG


12. Give one example for each of the following 

(i) icosogens (ii) tetragen 

(iii) pnictogen (iv) chalcogen

Watch Video Solution

13. Write a note on metallic nature of p-block

elements.

View Text Solution

14. Complete the following reactions: 

a.  (b) B(OH)3 + NH3 →

https://dl.doubtnut.com/l/_JxOaI4j6lrkz
https://dl.doubtnut.com/l/_0PsvdZRmwW2X
https://dl.doubtnut.com/l/_eg6gOZp3LwGA


 


c.  (d) 

 


(e)  (f)  


(g)  (h)  


(i)  (j) 

View Text Solution

Na2B4O7 + H2SO4 + H2O →

B2H6 + 2NaOH + 2H2O →

B2H6 + CH3OH →

BF3 + 9H2O HCOOH + H2SO4 →

SiCl4 + NH3 → SiCl4 + C2H5OH →

B + NaOH → H2B4O7

Red hot
−−−−→

15. How will you identify borate radical ?

Watch Video Solution

16. Write a note on zeolites.

https://dl.doubtnut.com/l/_eg6gOZp3LwGA
https://dl.doubtnut.com/l/_pKqXk1zjJMj3
https://dl.doubtnut.com/l/_HkyXqhClcn2r


Watch Video Solution

17. How will you convert boric acid to boron nitride ?

Watch Video Solution

18. A hydride of  period alkali metal (A ) on reaction

with compound of Boron (B ) to give a reducing agent

(c ) I dentify A, B and C.

Watch Video Solution

2nd

https://dl.doubtnut.com/l/_HkyXqhClcn2r
https://dl.doubtnut.com/l/_u85x4VLaJQUw
https://dl.doubtnut.com/l/_UFD6Issz7lO4


Evaluate Yourself

19. A double salt which contains fourth period alkali

metal (A) on heating at 500 K gives (B). Aqueous

solution of (B) gives white precipitate with  and

gives a red colour compound with alizarin. Identify A

and B.

Watch Video Solution

BaCl2

20. CO is a reducing agent. Justify with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_iO1qzt7DskEY
https://dl.doubtnut.com/l/_byIgmeDwmLMV
https://dl.doubtnut.com/l/_LlCZvlnwLQWu


Additional Questions Choose The Correct Answer

1. Why group 18 elements are called inert gases ?

Write the general electronic configuration of group 18

elements.

Watch Video Solution

1. More common oxidation state for halogens is

…………………..

A. 

B. 

+1

+2

https://dl.doubtnut.com/l/_LlCZvlnwLQWu
https://dl.doubtnut.com/l/_MFyKEaFGI4Kf


C. 

D. 

Answer: C

Watch Video Solution

−1

−2

2. Electronic configuration of noble gases is

…………………….

A. 

B. 

C. 

D. 

ns2

ns2np5

ns1np6

ns2np6

https://dl.doubtnut.com/l/_MFyKEaFGI4Kf
https://dl.doubtnut.com/l/_M8seJKhp5xSf


Answer: D

Watch Video Solution

3. Noble gases are chemically inert. This is due to

………………..

A. unstable electronic configuration

B. stable electronic configuration

C. only filled p-orbital

D. only filled s-orbital

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_M8seJKhp5xSf
https://dl.doubtnut.com/l/_EMBiP7nasz0I


Watch Video Solution

4. Consider the following statements, 

(i) The first member of the group -13, boron is a

metalloid while others are reactive metals. 

(ii) The oxides of boron and silicon are similar in their

acidic nature. 

(iii)Both boron and silicon form metallic hydrides. 

Which of the above statement (s) is/are not correct?

A. i only

B. ii only

C. ii and iii

D. iii onlyh

https://dl.doubtnut.com/l/_EMBiP7nasz0I
https://dl.doubtnut.com/l/_LtHwZpKx8wes


Answer: D

View Text Solution

5. Which element has a greater tendency to form a

chain of bonds with itself?

A. Boron

B. Silicon

C. Tin

D. Carbon

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LtHwZpKx8wes
https://dl.doubtnut.com/l/_pM6Wbpefu2sb


Watch Video Solution

6. Which one of the following is the strongest

oxidising agent?

A. Fluorine

B. Chlorine

C. Bromine

D. Iodine

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_pM6Wbpefu2sb
https://dl.doubtnut.com/l/_TLdXl6Ei4ZbL


7. Some elements exist in more than one crystalline or

molecular forms in the same physical state is

called……………….

A. isomerism

B. allotropism

C. isomorphism

D. isoelectronics

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_S9ASGqPFPoeH


8. How many allotropes possible for boron?

A. 1

B. 4

C. 6

D. 7

Answer: C

View Text Solution

9. Important ore of boron is ………..

A. bauxite

https://dl.doubtnut.com/l/_5fezqdlSp0zl
https://dl.doubtnut.com/l/_K7MhUkxHIAEk


B. borosilicate

C. borax

D. - tetragonal

Answer: C

Watch Video Solution

β

10. Less reactive elements in boron family is ………………… .

A. Boron

B. Aluminium

C. Gallium

https://dl.doubtnut.com/l/_K7MhUkxHIAEk
https://dl.doubtnut.com/l/_NxBNAzl7sTK6


D. Thallium

Answer: B

View Text Solution

11. More toxic element in boron family is …………. .

A. Boron

B. Aluminium

C. Galium

D. Thallium

Answer: D

https://dl.doubtnut.com/l/_NxBNAzl7sTK6
https://dl.doubtnut.com/l/_MJQi074iowKn


Watch Video Solution

12. Boron does not react directly with ……………… .

A. Oxygen

B. Hydrogen

C. Acids

D. Alkali

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_MJQi074iowKn
https://dl.doubtnut.com/l/_SfoVquzU1WMt


13. Borontrifluoride reacts with sodium hydride at 450

K gives…………..

A. diborane

B. tetraborane

C. pentaborane

D. decaborane

Answer: A

Watch Video Solution

14.  Identify A2B + N2

Δ
−−→ A

https://dl.doubtnut.com/l/_I639xtoYiI33
https://dl.doubtnut.com/l/_HCNOTUykb9OQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BN3

B3N

(BN)3

BN

15. Boron reacts with fused sodium hydroxide to

forms………………

A. Borax

B. Boric acid

https://dl.doubtnut.com/l/_HCNOTUykb9OQ
https://dl.doubtnut.com/l/_7UShyAelP0WE


C. Sodium borate

D. Sodium tetraborate

Answer: C

Watch Video Solution

16. Which isotope is used as moderator in nuclear

reactors?

A. 

B. 

C. 

D. 

10B5

12C6

4He2

40Ca20

https://dl.doubtnut.com/l/_7UShyAelP0WE
https://dl.doubtnut.com/l/_E04RJWMAHPSd


Answer: A

View Text Solution

17. Borax is ………………. In nature.

A. basic

B. acidic

C. amphoteric

D. chemically inert

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_E04RJWMAHPSd
https://dl.doubtnut.com/l/_POkxu8Hj5pC2


18. Which compound is used as flux in metallurgy ?

A. Boron nitride

B. Boron oxide

C. Boron fluoride

D. Borax

Answer: D

Watch Video Solution

19. The trialkylborate on reaction with sodiumhydride

in tetrahydrofuran to form………….. .

https://dl.doubtnut.com/l/_O3vyDmIlnX1m
https://dl.doubtnut.com/l/_9ZZxNl2sTE7W


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

NaBH4

Na[BH(OR)3]

Na[B(OR)3]

Na[BH(OR)3]
−

20. Compounds used as an eye lotion ……..?

A. 

B. 

H3BO3

HBO2

https://dl.doubtnut.com/l/_9ZZxNl2sTE7W
https://dl.doubtnut.com/l/_ecqGMfwIf9ns


C. 

D. 

Answer: A

Watch Video Solution

H2B4O7

B2O3

21. Which one of the following is highly reactive

compound?

A. 

B. 

C. 

D. 

B2O3

H3BO3

HBO2

B2H6

https://dl.doubtnut.com/l/_ecqGMfwIf9ns
https://dl.doubtnut.com/l/_TBWMusy5eKUu


Answer: D

View Text Solution

22. . Identify A

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B2H6 + 6CH3OH → A

B2O3

CH3OB

CH3OH

B(OCH3)3

https://dl.doubtnut.com/l/_TBWMusy5eKUu
https://dl.doubtnut.com/l/_YRkiWi8WU5GH


23. Which one of the following is called as inorganic

benzene?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B2H6

BN

H2B4O7

B3N3H6

https://dl.doubtnut.com/l/_jdVCzHsp6L1E


24. Compound contains two centred two elecrtron

bond (2c-2e) is ………..

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

B6H11

B5H9

B2H6

B10H11

https://dl.doubtnut.com/l/_kJFYrbg9pd5i


25. Diborane reacts with excess ammonia at high

temperature to give…………………. .

A. Boron nitride

B. Boron oxide

C. Borazole

D. Diborane diammonate

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QRJvbzo10D5E


26. Consider the following statements, 

(i) Diborane contains two centre two electron bond. 

(ii) In diborane, the boron has  hybridised. 


(iii)Diborane has two terminal B-H bond and four B-H-B

bonds. 

Which of the above statements (s) is/are correct.

A. iand iii

B. ii and iii

C. ionly

D. I and ii

Answer: D

View Text Solution

sp3

https://dl.doubtnut.com/l/_GJZEz3EOkGMY


View Text Solution

27. Compound used for propellant i s ..................

A. BN

B. 

C. 

D. Borax

Answer: C

Watch Video Solution

H2B4O7

B2H6

28. Which one of the following is double salt?

https://dl.doubtnut.com/l/_GJZEz3EOkGMY
https://dl.doubtnut.com/l/_tIvYLPHGdzxO
https://dl.doubtnut.com/l/_f9mv2pBLOWIC


A. Potash alum

B. Potassium sulphate

C. Aluminium Sulphate

D. Ammonium sulphate

Answer: A

Watch Video Solution

29. Consider the following statements,

(i) Alums are more soluble in hot water than in cold

water. 

(ii) Alums are more soluble in cold water than in hot

https://dl.doubtnut.com/l/_f9mv2pBLOWIC
https://dl.doubtnut.com/l/_FaEZxL306IKY


water. 

(iii) Potash alum is employed as styptic agent to arrest

bleeding. 

Which of the above statement (s) is /are not correct?

A. I only

B. ii only

C. ii only

D. I,ii and ii

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FaEZxL306IKY


30. The structure of graphite is

A. planner

B. hexagonal

C. Octahederal

D. bucky balls

Answer: B

View Text Solution

31. Which one of the following is used a lubricant?

A. Graphite

https://dl.doubtnut.com/l/_YnaUt4kmitIi
https://dl.doubtnut.com/l/_Y4WMcM5VJv8K


B. Diamond

C. Fullerene

D. Graphene

Answer: A

Watch Video Solution

32. Which one of the following carbon alotrope is very

hard?

A. Graphite

B. Diamond

C. Fullerene

https://dl.doubtnut.com/l/_Y4WMcM5VJv8K
https://dl.doubtnut.com/l/_VQHf4zUaoQlO


D. Graphene

Answer: A::D

Watch Video Solution

33. Recently discovered allotropes of carbon is

………………. .

A. Graphite

B. Diamond

C. Carbon nanotubes

D. Fullerences

https://dl.doubtnut.com/l/_VQHf4zUaoQlO
https://dl.doubtnut.com/l/_1kQsMpAeunnM


Answer: C

View Text Solution

34. CO and  mixture is ……..

A. natural gas

B. producer gas

C. water gas

D. LPG

Answer: B

Watch Video Solution

N2

https://dl.doubtnut.com/l/_1kQsMpAeunnM
https://dl.doubtnut.com/l/_j6hgSjVw1Rjw


35. Syn gas is ……..

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO + N2

CO + H2

CO2 + H2

CO2 + N2

36. Ethene is mixed with carbon monoxide and

hydrogen gas to produce propanal is known as…………..

https://dl.doubtnut.com/l/_iw8sMHd4KQQT
https://dl.doubtnut.com/l/_lPrFmIfsUskQ


A. Oxo process

B. Mc Afee proces

C. Wacker process

D. Haber process

Answer: A

Watch Video Solution

37. …………………… is a good reducing agent.

A. contains replaceable  ion

B. 

H +

CO2

https://dl.doubtnut.com/l/_lPrFmIfsUskQ
https://dl.doubtnut.com/l/_4cQja07gJLgy


C. 

D. 

Answer: A

View Text Solution

[Cr(CO)6]

[Ni(CO)4]

38. Critical temperature of  is ………..

A. 

B. 

C. 

D. 

CO2

−31∘C

−13∘C

31∘C

13∘C

https://dl.doubtnut.com/l/_4cQja07gJLgy
https://dl.doubtnut.com/l/_Cnuns1i1tAir


Answer: C

Watch Video Solution

39. Which one of the following compound is

important for photosynthesis?

A. CO

B. 

C. 

D. 

Answer: B

View Text Solution

CO2

COCl2

C

https://dl.doubtnut.com/l/_Cnuns1i1tAir
https://dl.doubtnut.com/l/_OL1hxUr13kxo


View Text Solution

40. General empirical formula of silicone is ………………. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(R2SiO)

(RSiO)

(R2CO)

(RSiH)

https://dl.doubtnut.com/l/_OL1hxUr13kxo
https://dl.doubtnut.com/l/_79K42x52doM3


41. Consider the following statements 

(i) All Silicones are hydrophilic in nature. 

(ii) Silicones are thermal and electrical insulators. 

(iii) Chemically silicones are highly reactive. 

Which of the above statement (s) is /are not correct?

A. I and ii

B. I and iii

C. ii and iii

D. ii

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sqMexx3K8Nj0


42. Silicate contains silicon and oxygen in …………………

units.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[SiO4]4 −

[SiO4]

[SiO4]2 −

[SiO4] −

43. Ortho silicates are also called as ………….

https://dl.doubtnut.com/l/_iX1J81XuX48z
https://dl.doubtnut.com/l/_4haVULS14dmw


A. Into silicates

B. Soro silicates

C. Neso silicates

D. Cyclic silicates

Answer: C

View Text Solution

44. Example of Ring silicate is ………….

A. Olivine

B. Beryl

https://dl.doubtnut.com/l/_4haVULS14dmw
https://dl.doubtnut.com/l/_5uJU3Zd5JPMP


C. Spodumene

D. Asbestos

Answer: B

Watch Video Solution

45. Pick out the three dimensional silicates?

A. Talk

B. Mica

C. Quartz

D. Asbestos

https://dl.doubtnut.com/l/_5uJU3Zd5JPMP
https://dl.doubtnut.com/l/_ScjOVUpELk7N


Answer: C

View Text Solution

46. Compound used to remove the permanent

hardness of water is ……………. .

A. Zeolite

B. Feldspar

C. Talc

D. Mica

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ScjOVUpELk7N
https://dl.doubtnut.com/l/_ldKvFwM1e7iG


Additional Questions Fill In The Blanks

Watch Video Solution

1. ………………. Is the general electronic configuration of

tetragen elements.

Watch Video Solution

2. Boron and silicon form ……………….. Hydrides.

Watch Video Solution

https://dl.doubtnut.com/l/_ldKvFwM1e7iG
https://dl.doubtnut.com/l/_PurGTkERMPps
https://dl.doubtnut.com/l/_HUT6Ar6ESgFC


3. ……………………….. Is most reactive element among the

halogens.

View Text Solution

4. Most stable oxidation state of aluminium is

………………….. .

Watch Video Solution

5. General formula of metal boride is ………………. .

Watch Video Solution

https://dl.doubtnut.com/l/_W8R8gsinuilX
https://dl.doubtnut.com/l/_hdq9B951xFVx
https://dl.doubtnut.com/l/_egPxFcFbvLJO


6. Boron has the capacity of absorb……………………. .

Watch Video Solution

7. …………………….. Is used as a rocket fuel igniter.

Watch Video Solution

8. …………………………. Is essential for the cell walls of plants.

View Text Solution

9. ……………… is a chemical formula of borax.

https://dl.doubtnut.com/l/_ZhfdJSKnaNQV
https://dl.doubtnut.com/l/_ZAhULwBHxkMH
https://dl.doubtnut.com/l/_cT4DzMfNIlmB
https://dl.doubtnut.com/l/_y1qHL9eBZy3w


View Text Solution

10. ………………………… is used for the identification of

coloured metal ions.

Watch Video Solution

11. …………………….is a colourless transparent crystal.

Watch Video Solution

12. Boric acids has a …………………….. Structure.

Watch Video Solution

https://dl.doubtnut.com/l/_y1qHL9eBZy3w
https://dl.doubtnut.com/l/_13RXBeypjDQr
https://dl.doubtnut.com/l/_KAzUVi34flry
https://dl.doubtnut.com/l/_TuLGbJgJApLr


13. Boric acid consists of …………………… unit.

View Text Solution

14. On heating magnesium boride with HCl a mixture

of volatile. …………….. Are obtained.

View Text Solution

15. Diborane reacts with methylalcohol to

give……………………

Watch Video Solution

https://dl.doubtnut.com/l/_TuLGbJgJApLr
https://dl.doubtnut.com/l/_qIPp3ApJj0TD
https://dl.doubtnut.com/l/_gksWS9vTjdgb
https://dl.doubtnut.com/l/_gc4mfYNdd3RP


Watch Video Solution

16. Diborane has ……………….. B-H bonds.

Watch Video Solution

17. In diborane, the boron is ………………. Hybridised.

View Text Solution

18. …………………. Is inorganic benzene.

Watch Video Solution

https://dl.doubtnut.com/l/_gc4mfYNdd3RP
https://dl.doubtnut.com/l/_15rwckYqbctv
https://dl.doubtnut.com/l/_G6o42A2josiN
https://dl.doubtnut.com/l/_BlHsYfp1pgbN
https://dl.doubtnut.com/l/_ShRsLy4IIqUw


19. Boron trifluoride has a …………………… geometry.

View Text Solution

20. Anhydrous aluminium chloride is a…………….

Substance.

Watch Video Solution

21. With excess of NaOH aluminium chloride produces.

Watch Video Solution

https://dl.doubtnut.com/l/_ShRsLy4IIqUw
https://dl.doubtnut.com/l/_sJcZhRNN16ZC
https://dl.doubtnut.com/l/_NXSqz3F73b5V


22. ………… is used for the manufacture of petrol by

cracking the mineral oils.

View Text Solution

23. ………………….. Is used for water proofing and textiles.

Watch Video Solution

24. ……………… is the most stable alotropic form of

carbon at normal temperature and pressure.

Watch Video Solution

https://dl.doubtnut.com/l/_fOgew7iLyGtK
https://dl.doubtnut.com/l/_hJxIj23Cxe2x
https://dl.doubtnut.com/l/_7UQs1c8zgBKE


25. ………………… is allotropic form of carbon has aromatic

character.

Watch Video Solution

26. Graphene has ………………….. Lattice.

Watch Video Solution

27. Carbonyl chloride is a …………… gas.

Watch Video Solution

https://dl.doubtnut.com/l/_yvNynKlkSRPG
https://dl.doubtnut.com/l/_w5Tk2wLyA3Ox
https://dl.doubtnut.com/l/_GNEtPlsxg8Qf


28. Equimolar mixture of hydrogen and

carbonmonoxide is called as………………………

Watch Video Solution

29. Producer gas is a mixture of ……………. And

…………………….. .

Watch Video Solution

30. Aqueous solution of carbon dioxide forms

…………………. .

Watch Video Solution

https://dl.doubtnut.com/l/_bEZicJK1286h
https://dl.doubtnut.com/l/_YdV62oVsSq0Z
https://dl.doubtnut.com/l/_JWFZ9ZVpjmix


31. ………………….. Are high temperature polymers.

Watch Video Solution

32. The viscosity of silicon oil remains.

Watch Video Solution

33. ……………………. Are used as insulating material.

Watch Video Solution

https://dl.doubtnut.com/l/_JWFZ9ZVpjmix
https://dl.doubtnut.com/l/_hh2U3vR7yPiv
https://dl.doubtnut.com/l/_kqsvaqF6ouHs
https://dl.doubtnut.com/l/_0NUBeKFwgv84
https://dl.doubtnut.com/l/_BPc2jR5L1YED


34. In beryl, each aluminium is surrounded

by…………………… .

View Text Solution

35. …………….. Is carcinogenic silicates.

Watch Video Solution

36. Three dimensional by replacing……………… units by

………………………. .

View Text Solution

https://dl.doubtnut.com/l/_BPc2jR5L1YED
https://dl.doubtnut.com/l/_I6irHFsNAi5s
https://dl.doubtnut.com/l/_yfNUESbayOAH
https://dl.doubtnut.com/l/_e7vL8xLdyVp1


Additional Questions Match The Following

37. ………………….. Crystal to act as a molecular sieve.

Watch Video Solution

38. Borax is a sodium salt of ……………… .

View Text Solution

1. Match the following 

 





(i)Tetragens                          (a)Oxygen

(ii)Icosagens                          (b)Carbon

https://dl.doubtnut.com/l/_e7vL8xLdyVp1
https://dl.doubtnut.com/l/_dCzrybwqk3Ax
https://dl.doubtnut.com/l/_UHQtiQVlaWON


 

Watch Video Solution

(iii)Chalcogens                          (c)Nitrogen

(iv)Pnictogens                          (d)Boron

2. Match the following

 

Watch Video Solution

(i)Borax                          (a)Na2B4O7

(ii)Prismatic form                          (b)Na2B4O7.5H2O

(iii)Jeweller Borax                          (c)Na2B4O7.10H2O

(iv)Borax glass                          (d)[B4O5(OH)4]
2 −

https://dl.doubtnut.com/l/_UHQtiQVlaWON
https://dl.doubtnut.com/l/_PGvO4nxrqUnP


3. Match the following 

 

 


 

Watch Video Solution

(i)Boron                          (a)Optical

(ii)Borax                          (a)Neutron absorber

(iii)Boric acid                          (c)Welding torches

(iv)Diborane                          (d)Eye lotion

4. Match the following 

 


 

 


(i)Graphite                          (a)Honeycomb crystal

(ii)Diamond                          (a)Aromatic character

(iii)Fullerene                          (c)Lubricant

(iv)Graphene                          (d)Very hard

https://dl.doubtnut.com/l/_Wfvyub3qHYKA
https://dl.doubtnut.com/l/_8ZuhwEZu9qMs


Additional Questions Assertion And Reason

Watch Video Solution

5. Match the following

 

 


 


View Text Solution

(i)Orthosilicate                          (a)Thortveitite

(ii)Pyrosilicate                          (b)Beryl

(iii)Cyclicsilicate                          (c)Quartz

(iv)Tecto silicate                          (x)Phenacite

https://dl.doubtnut.com/l/_8ZuhwEZu9qMs
https://dl.doubtnut.com/l/_rOs6uRcQbbSF


1. Assertion (A): Noble gases are least reactivity. 

Reason (R):Noble gases have completely filled s and p-

orbital and attain stable electronic configuration.

A. A and R are correct and R explains A.

B. A and R are correct and R not explains A.

C. A is correct R is wrong.

D. A is wrong but R is correct

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_U8UVKtTOehzd


2. Assertion (A): Both boron and silicon form covalent

hydrides. 

Reason(R):Boron does not shows diagonal

relationship with silicon of group 14.

A. A and R are correct and R explains A.

B. A and R are correct and R not explains A.

C. A is correct R is wrong.

D. A is wrong but R is correct

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lIcZVoLORY7b
https://dl.doubtnut.com/l/_7nMOSNJyCtcv


3. Assertion (A): Fluorine is most reactive element

among the halogens. 

Reason(R):Fluorine has minimum bond dissociation

energy.

A. (a) A and R are correct and R explains A.

B. (b) A and R are correct and R not explains A.

C. (c) A is correct but R is wrong.

D. (d) A is wrong but R is correct.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7nMOSNJyCtcv


4. Assertion A: Boron combines with halogen to form

trihalides at high temperatures. 

Reason (R):Boron does not reacts directly with

hydrogen.

View Text Solution

5. Assertion(A):Boron -10 isotopes is used as

moderator in nuclear reactors. 

Reason(R):Boron has the capacity to absorb neutrons.

A. (a) A and R are correct and R explains A.

B. (b) A and R are correct and R not explains A.

https://dl.doubtnut.com/l/_3o1uqhJxkwcF
https://dl.doubtnut.com/l/_BqcAqsjdAmyn


C. (c) A is correct but R is wrong.

D. (d) A is wrong but R is correct.

Answer: A

Watch Video Solution

6. Assertion (A): Diborane is highly reactive. 

Reason(R):At high temperatures, diborane forms

higher boranes.

View Text Solution

https://dl.doubtnut.com/l/_BqcAqsjdAmyn
https://dl.doubtnut.com/l/_lpP1bDtQU2ot


7. Assertion (A):  reacts with ammonia to form

complex. 

Reason (R):  is a electron deficient compound and

accepts electrons pairs to form coordinate covalent

bonds.

View Text Solution

BF3

BF3

8. Assertion (A): Fullerene has aromatic character. 

Reason(R):Some of the fullernes have - bonds and

delocalised - bonds.

A. (a) A and R are correct and R explains A.

σ

π

https://dl.doubtnut.com/l/_o4Tj46AouOaU
https://dl.doubtnut.com/l/_C0AT4EVt7jqk


B. (b) A and R are correct and R not explains A.

C. (c) A is correct but R is wrong.

D. (d) A is wrong but R is correct.

Answer: A

Watch Video Solution

9. Assertion(A): Carbon dioxide is non flammable gas. 

Reason(R):  critical temperature is  and can

be readily liquefied.

A. (a) A and R are correct and R explains A.

B. (b) A and R are correct and R not explains A.

CO2 31∘C

https://dl.doubtnut.com/l/_C0AT4EVt7jqk
https://dl.doubtnut.com/l/_GaVxrdz3Uqo7


C. (c) A is correct but R is wrong.

D. (d) A is wrong but R is correct.

Answer: B

Watch Video Solution

10. Assertion (A): Zeolites act as a molecular sieve. 

Reason(R):Zeolite structure is pore/ channel sizes are

nearly uniform.

A. (a) A and R are correct and R explains A.

B. (b) A and R are correct and R not explains A.

C. (c) A is correct but R is wrong.

https://dl.doubtnut.com/l/_GaVxrdz3Uqo7
https://dl.doubtnut.com/l/_A6HrwilJPgzb


D. (d) A is wrong but R is correct.

Answer: A

Watch Video Solution

11. Find the odd one out and give the reason.

A. Icosagens

B. Tetragens

C. Alkali metals

D. Chalcogens

Answer: C

https://dl.doubtnut.com/l/_A6HrwilJPgzb
https://dl.doubtnut.com/l/_KG3BBUwf8Sko


Watch Video Solution

12. Find the odd one out and given the reason.

A. Al

B. B

C. O

D. Na

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KG3BBUwf8Sko
https://dl.doubtnut.com/l/_iCipKOroxoN4


13. Find the odd one out and given the reason.

A. diborane

B. Borax

C. Carbonmonoxide

D. Boric acid

Answer: C

Watch Video Solution

14. Find the odd one out and give the reason.

A. B3N3H6

https://dl.doubtnut.com/l/_w6C92rpCNEtw
https://dl.doubtnut.com/l/_YTDMVPtmUF2H


B. 

C. 

D. 

Answer: A

Watch Video Solution

B4H10

B5H9

B5H11

15. Find the odd one out and give the reason.

A. Potash alum

B. sodium alum

C. burnt alum

https://dl.doubtnut.com/l/_YTDMVPtmUF2H
https://dl.doubtnut.com/l/_xLVYg6iqpWOj


D. Ammonium alum

Answer: C

Watch Video Solution

16. Find the odd one out and give the reason.

A. Graphite

B. Borax

C. Fullerene

D. Diamond

Answer: B

https://dl.doubtnut.com/l/_xLVYg6iqpWOj
https://dl.doubtnut.com/l/_6RUU1g1sNJFY


Additional Questions Correct Pair

Watch Video Solution

17. Find the odd one out and given the reason.

A. B

B. Ga

C. In

D. Na

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6RUU1g1sNJFY
https://dl.doubtnut.com/l/_A81G4hUzY8q1


1. Find out the correct pair.

A. Ortho silicate- Soro silicate

B. Pyro silicate-Neso silicate

C. Chain silicate-Pyroxenes

D. Double chain silicate-Ring silicate

Answer: C

Watch Video Solution

2. Find out the correct pair.

https://dl.doubtnut.com/l/_vyC0Nx1ldQjl
https://dl.doubtnut.com/l/_rkqQiQurErnO


A. Graphene-

B. Diamon 

C. Fullerne-

D. Graphite

Answer: D

View Text Solution

1.54Å

−1.40Å

1.38Å

−1.40Å

3. Find out the correct pair.

A. Diborane-Welding torches

B. -Eye lotionAlCl3

https://dl.doubtnut.com/l/_rkqQiQurErnO
https://dl.doubtnut.com/l/_U8yfSnhK2GhM


C. Borax-pigments

D. boric acid-optical

Answer: A

Watch Video Solution

4. Find out the correct pair.

A. Inert gas 

B. Chalcogens-

C. Pnictogens 

D. Tetragens

−ns2np1

ns2np2

−ns2np3

−ns2np4

https://dl.doubtnut.com/l/_U8yfSnhK2GhM
https://dl.doubtnut.com/l/_jXPFJdakO0v9


Answer: C

Watch Video Solution

5. Find out the correct pair.

A. Icosagens-oxygen

B. Tetragen-carbon

C. chalcogen-Fluorine

D. Halogen -Boron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jXPFJdakO0v9
https://dl.doubtnut.com/l/_KTvBS9OItLpe


Additional Questions Incorrect Pair

1. Find out the incorrect pair.

A. Tetragens-

B. Icosagens

C. Chalcogens-

D. Halogens

Answer: D

Watch Video Solution

ns2np2

−ns2np1

ns2np4

−ns2np6

https://dl.doubtnut.com/l/_gnd2U4zpd62p


2. Find out the incorrect pair.

A. Boron is 

B. Carbon in 

C. Nitrogen in 

D. Fluorine in 

Answer: D

Watch Video Solution

BF3 − + 3

CO2 − + 4

N2O5 − + 5

OF2 − + 4

3. Find out the incorrect pair.

A. Nitrogen -Tetragens

https://dl.doubtnut.com/l/_OxDxQVKcy9bI
https://dl.doubtnut.com/l/_RHg9mJJqmLKr


B. Oxygen-Chalcogens

C. Tin -Tetragens

D. Gallium-Icosagens

Answer: A

Watch Video Solution

4. Find out the incorrect pair.

A. Boron-Moderator

B. Borax-Eye lotion

C. Boric acid-Antiseptic

https://dl.doubtnut.com/l/_RHg9mJJqmLKr
https://dl.doubtnut.com/l/_VGtuh1GQ5yfm


D. Diborane-Propellant

Answer: B

Watch Video Solution

5. Find out the incorrect pair.

A. McAfee process 

B. Burnt -

C. Oxo process -Propanal

D. Fisher tropsch Synthesis -HCOOH

Answer: D

−AlCl3

K2SO4. Al2(SO4)3

https://dl.doubtnut.com/l/_VGtuh1GQ5yfm
https://dl.doubtnut.com/l/_Omriy82LvJWb


Watch Video Solution

6. Find out the incorrect pair.

A. Soro silicate -Thortveitite

B. Ring silicate-Beryl

C. Sheet silicate-Asbestos

D. Tecto silicate -Quartz

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Omriy82LvJWb
https://dl.doubtnut.com/l/_1mWxpWBFQj0Z


Additional Questions 2 Marks Questions

7. Find out the incorrect pair.

A. Pyroxenes-Phenacite

B. Amphiboles-Asbestos

C. Phyllo silicate-Mica

D. Tecto Silicate- Quartz

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dmymDRqgmOqw


1. What are Wade's Rule?

View Text Solution

2. Why-1 oxidation state is more common in halogens.

Explain.

Watch Video Solution

3. Why boron has non-metallic character?

Watch Video Solution

https://dl.doubtnut.com/l/_cF8WKoYnXMaY
https://dl.doubtnut.com/l/_zwppsKb894IN
https://dl.doubtnut.com/l/_nWbdW53dd0TE


4. Define inert pair effect.

View Text Solution

5. Mention the allotropes of boron.

Watch Video Solution

6. List out the allotropes of tin.

Watch Video Solution

7. Mention the allotropes of phosphorous?

https://dl.doubtnut.com/l/_UVafTVITvLWF
https://dl.doubtnut.com/l/_TpEMSxl1Cq0D
https://dl.doubtnut.com/l/_mF0g6Y9V9AgW
https://dl.doubtnut.com/l/_KGNaTgfRQWpE


Watch Video Solution

8. Given the two allotropes of sulphur.

Watch Video Solution

9. Why boron compounds are covalent in nature?

View Text Solution

10. Define Borax is basic in nature.

Watch Video Solution

https://dl.doubtnut.com/l/_KGNaTgfRQWpE
https://dl.doubtnut.com/l/_h53guAagOslI
https://dl.doubtnut.com/l/_yhRW7JPM6DWV
https://dl.doubtnut.com/l/_azaAWIy65Nuo


11. Explain action of heat on borax.

Watch Video Solution

12. What happen when borax treated with ammonium

chloride?

Watch Video Solution

13. What happen when boric acids reacts with sodium

hydroxide?

Watch Video Solution

https://dl.doubtnut.com/l/_qe9ET3Q4P4mB
https://dl.doubtnut.com/l/_wjW7c96gNhz6
https://dl.doubtnut.com/l/_31e0nEGGBYul


14. Identify A and B from the following reaction, 

(i)  


(ii) 

Watch Video Solution

H3BO3 + NH3

800 − 1200K
−−−−−−→ A + 3H2O

4H3BO3 + 3C2H5OH
conc .H2SO4

−−−−−−→ B + 3H2O

15. Explain the structure of Boric acid.

Structure of boric acid.

View Text Solution

16. Explain the action of air on diborane.

Watch Video Solution

https://dl.doubtnut.com/l/_hoSXxf3AGvpz
https://dl.doubtnut.com/l/_RlVivMNx62Od
https://dl.doubtnut.com/l/_VjWmRSBQJSHx


17. How will you convert diborane into sodium

borohydride?

Watch Video Solution

18. Mention the uses of boron trifluoride.

Watch Video Solution

19. What is McAfee process?

Watch Video Solution

https://dl.doubtnut.com/l/_VjWmRSBQJSHx
https://dl.doubtnut.com/l/_XtPSIL178y0m
https://dl.doubtnut.com/l/_wPCdbNHqlkkh
https://dl.doubtnut.com/l/_VusjX3PfU9Ng


20. What happen when potash alum is treated with

ammonium hydroxide?

Watch Video Solution

21. What is producer gas? How will you prepare

producer gas?

Watch Video Solution

22. What is synthetic gas?

Watch Video Solution

https://dl.doubtnut.com/l/_GUyBrh8KiF2E
https://dl.doubtnut.com/l/_LdNpeurqjZ1r
https://dl.doubtnut.com/l/_xB3AYJohL8C3


23. What is phosgene?

View Text Solution

24. How will you prepare propanal by oxoprocess?

Watch Video Solution

25. What is water gas equilibrium ?

Watch Video Solution

26. What are the uses of silicon tetra chloride ?

https://dl.doubtnut.com/l/_uWWCaCn0Clci
https://dl.doubtnut.com/l/_Mc5DeTGWwAyf
https://dl.doubtnut.com/l/_G7pKzCafRsUN
https://dl.doubtnut.com/l/_yxhwid8BiweA


Watch Video Solution

27. What are silicones ?

Watch Video Solution

28. ………………….. Are high temperature polymers.

Watch Video Solution

29. Why silicones are water repellent?

View Text Solution

https://dl.doubtnut.com/l/_yxhwid8BiweA
https://dl.doubtnut.com/l/_QegDTR8WfNkJ
https://dl.doubtnut.com/l/_DApm7iFXWz6T
https://dl.doubtnut.com/l/_JioO57mB5u2O


Additional Questions 3 Mark Questions

1. Write a notes on ionisation enthalpy in p-block

elements?

View Text Solution

2. Give the uses of boron.

Watch Video Solution

3. How will be prepare from colemanite?

View Text Solution

https://dl.doubtnut.com/l/_9x2PxhCs0nUc
https://dl.doubtnut.com/l/_DdIv3DQ6YPzx
https://dl.doubtnut.com/l/_6TgUcoMHsKjl


4. Explain the extraction of boric acid from 

(i) Borax (ii) Colemanite

Watch Video Solution

5. Explain the action of heat on boric acid .

Watch Video Solution

6. How will you convert, boric acid into (i) Boron

trifluoride (ii) Borax

Watch Video Solution

https://dl.doubtnut.com/l/_6TgUcoMHsKjl
https://dl.doubtnut.com/l/_KACxuc6SvPN3
https://dl.doubtnut.com/l/_VQ6pds9rtt81
https://dl.doubtnut.com/l/_sevWpyI1u3Ss


7. What are the uses of boric acid ?

Watch Video Solution

8. Explain the preparation of diborane.

Watch Video Solution

9. What happen when diborane heated at various

temperature?

Watch Video Solution

https://dl.doubtnut.com/l/_sevWpyI1u3Ss
https://dl.doubtnut.com/l/_tLO2mFgpCNfd
https://dl.doubtnut.com/l/_0m8VKIrKZufV
https://dl.doubtnut.com/l/_RbpN1YDHR8Rc


10. Explain the reaction between diborane and

ammonia?

Watch Video Solution

11. Why borontrifluoride is act as lewis acid? Explain

the react between  and ammonia?

View Text Solution

BF3

12. How does  reacts with following reagents? 


(i)  (ii)  (iii) NaOH

Watch Video Solution

AlCl3

H2O NH4OH

https://dl.doubtnut.com/l/_ao99NAjaMDxo
https://dl.doubtnut.com/l/_IDRmfLR9xvVP
https://dl.doubtnut.com/l/_2vugGVnaB5TG


13. Give the uses of aluminium chloride.

View Text Solution

14. How will you prepare potash alum?

Watch Video Solution

15. Mention the uses of the potash alum.

Watch Video Solution

https://dl.doubtnut.com/l/_2vugGVnaB5TG
https://dl.doubtnut.com/l/_WwVZfbkBNqWl
https://dl.doubtnut.com/l/_ouLU2eG7gLLH
https://dl.doubtnut.com/l/_3LsG2y3mtOFZ
https://dl.doubtnut.com/l/_nT8Zbe1TG8pl


16. What is burnt alum ?

Watch Video Solution

17. What are all the conditions are necessary form

catenation?

View Text Solution

18. Give any three methods to prepare carbon

monoxide.

Watch Video Solution

https://dl.doubtnut.com/l/_nT8Zbe1TG8pl
https://dl.doubtnut.com/l/_rQanJ2kWX4Kc
https://dl.doubtnut.com/l/_UUYZNuEXqd0Q
https://dl.doubtnut.com/l/_JJQmXxwChJSf


19. Mention the uses the carbon monoxide.

View Text Solution

20. Explain the methods to prepare carbon dioxide.

Watch Video Solution

21. Give the uses of carbon dioxide.

Watch Video Solution

22. Explain the preparation of silicon tetrachloride.

https://dl.doubtnut.com/l/_JJQmXxwChJSf
https://dl.doubtnut.com/l/_RNODe0sy2uB3
https://dl.doubtnut.com/l/_YRZ1dBwlq4IB
https://dl.doubtnut.com/l/_guUYjRCNfxlp


Watch Video Solution

23. Complete the following reaction: 

(i) ? 


(ii) ? 


(iii) 

Watch Video Solution

SiCl4 + H2O →

SiCl4 + C2H5OH →

SiCl4 + NH3

330K
−−−−−→

ether
?

24. Explain the types of silicones.

Watch Video Solution

https://dl.doubtnut.com/l/_guUYjRCNfxlp
https://dl.doubtnut.com/l/_YmMRtx8W4dzo
https://dl.doubtnut.com/l/_4CcDSzOvk5P1


Additional Questions 5 Marks Qeustions

25. Mention the properties of silicones.

Watch Video Solution

26. What are silicates and mention the types of

silicates?

Watch Video Solution

1. An element (A) extracted from kernite. A reacts with

nitrogen at high temperature gives B. A reacts with

https://dl.doubtnut.com/l/_xPHMMlmAAtDk
https://dl.doubtnut.com/l/_fLrSiPKgy7je
https://dl.doubtnut.com/l/_Y6p1SIIVtrC7


alkali to form C. Find out A, B and C. Give the chemical

equations.

Watch Video Solution

2. (b) Compound A is used in the manufacture of

optical. A on heating gives B. B further heating to

form C. A reacts with hydrochloric acid to give D.

Identify A, B,C and D. Explain the reaction.

Watch Video Solution

3. Complete the reaction, 

i.  
H3BO3

373K
−−→ A + H2O

https://dl.doubtnut.com/l/_Y6p1SIIVtrC7
https://dl.doubtnut.com/l/_uVWbpRZKo3Rf
https://dl.doubtnut.com/l/_ecZ2GXomZVK4


ii.  


iii. 

A. fig

B. 

C. 

D. 

Answer:

Watch Video Solution

A
413K
−−→ B + H2O

B
Red hot
−−−−→ C + H2O

4. Sodium borohydride reacts with iodine in the

presence of diglyme to give A. A heated at 388 K give

https://dl.doubtnut.com/l/_ecZ2GXomZVK4
https://dl.doubtnut.com/l/_GS21Xc6t1icC


B. A heated at 373 K in sealed tube to form C. A further

heated at red hot condition to give element D. Find

out A,B, C and D. Give the reactions.

Watch Video Solution

5. How does carbonmonoxide reacts with following

reagents, 

(i) Oxygen

(ii) Chlorine

(iii) Iron(III) Oxide

(iv)Hydrogen 

(v)Ethene

Watch Video Solution

https://dl.doubtnut.com/l/_GS21Xc6t1icC
https://dl.doubtnut.com/l/_uZqNv9uJmUIU


6. Explain the preparation of silicones.

Watch Video Solution

7. Discuss the ortho and pyro silicates.

Watch Video Solution

8. Explain (i) Cyclic silicates, (ii) Ino silicates.

Watch Video Solution

https://dl.doubtnut.com/l/_uZqNv9uJmUIU
https://dl.doubtnut.com/l/_Ywptcc3iqoLx
https://dl.doubtnut.com/l/_WsqtcMMT8DPQ
https://dl.doubtnut.com/l/_S0FAmSVHP0wa


9. Write a notes on 

(i) Sheet silicates (ii) Three dimensional silicate

View Text Solution

10. Explain Boron neutron capture therapy.

View Text Solution

https://dl.doubtnut.com/l/_q3Tt6wCghfPG
https://dl.doubtnut.com/l/_i2LkXtQHLWd7

